
6 Decimals

1 Tenths

The	 length	 of	 the	 string	 is	 8
10

	 cm	 or	 0.8	 cm.

	 The	 mass	 of	 the	 bread	 	 The	 amount	 of	 water
	 is	 0.8	 kg.	 	 	 	 is	 0.8	 L.

1	 L

0.5

0.8	 =	 8
10 	

We	 read	 0.8	 as	 zero point 
eight or	 as eight tenths.
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0.8	 is	 8	 tenths.

Numbers	 like	 0.1	 and	 0.8	 are	 decimals.
The	 dot	 ‘.’	 in	 a	 decimal	 is	 called	 a	 decimal point.

1.	

	 Write	 a	 decimal	 for	 each	 of	 the	 following.
(a)	

	 4	 tenths	 =	 	

(b)	

	 6	 tenths	 =	 	

(c)	

	 9	 tenths	 =	 	

0.1

0.1

0.1

0.1

0.1

0.1

0.1

0.1

0.1

0.1

0.1 0.1 0.1 0.1

0.1 0.1 0.1 0.1 0.1 0.1

0.1 0.1 0.1 0.1 0.1

0.1 0.1 0.1 0.1

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1

Divide	 1	 whole	 into	 10	 equal
parts.	 Each	 part	 is	 1

10		 or	 0.1.

1	 one 10	 tenths
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1 m

0.1 m

0.1 m

0.01 m

Divide 0.1 m into 10 equal 
parts. Each part is 0.01 m.

0.01 = 1
100

We read 0.01 as
zero point zero one 
or as one hundredth.

2	 Hundredths

	 What is the length of the colored part?

	 	 	 	 0.3 + 0.07 = 0.37
 
The length of the colored part is 0.37 m.

	 	 	 	 	          0.01 is 1 hundredth.

	 	 	 	 	 	

	 	 	 	 	      0.07 is 7 hundredths.

2	 Hundredths

	 What is the length of the colored part?

	 	 	 	 0.3 + 0.07 = 0.37
 
	 The length of the colored part is 0.37 m.

	 	 	 	 	 	          0.01 is 1 hundredth.

	 	 	 	 	 	

	 	 	 	 	 	      0.07 is 7 hundredths.

0.01 = 1
100

We read 0.01 as
zero point zero one 
or as one hundredth.

0.07 = 7
100

We read 0.07 as	
zero point zero seven 	
or as seven hundredths.

The length of the 
colored part is greater 
than 0.3 m.
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7 The Four Operations 
of Decimals

1 Addition and Subtraction

 David	 drank	 0.7	 liters	 of	 milk.

John	 drank	 0.2	 liters	 of	 milk.

(a)	 How	 much	 milk	 did	 they	 drink	 altogether?

	 0.7	 +	 0.2	 =	

	 They	 drank	
	
liters	 of	 milk	 altogether.

(b)	 How	 much	 more	 milk	 did	 David	 drink	 than	 John?

	 0.7	 –	 0.2	 =	

	 David	 drank	 	 liters	 more	 milk	 than	 John.

?
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37. Samantha bought a fish for $5.25. She also bought some
flowers for $11.80. She paid with a $50 bill. How much
change did she receive?

Method 1:

$50 − $5.25 − $11.80 = $

Samantha received $  change.

Method 2:

$5.25 + $11.80 = $17.05

Samantha spent $17.05 altogether.

$50 − $17.05 = $

Samantha received $  change.

$5.25 $11.80

$50

?

I first subtract $5.25 from 
$50, and then subtract 
$11.80 from that answer.

First, I find the total amount
of money Samantha spent.
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